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Aufgabe 1
Berechne.

a) 71 +
d) 92 +
g) 20 +
j) 62 +

Aufgabe 2
Berechne.

a) 686 +
d) 622 +
g) 604 +
j) 843 +

Aufgabe 3

Berechne.

a) 2+
d) 7+
g) o+
j) 4+
Aufgabe 4
Berechne.

a) 200 +
d) 200 +
g) 400 +
j) 500 +

= 300
= 700
= 200
= 600

= 3000
= 8000
= 7000
= 3000
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= 3000
= 2000
= 5000
= 7000

Viel Erfolg!
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b)5d+ =500 )22+ =200
)73+ =800  £)78+ =500
B304+ =500 )47+ =800
b) 134+  =4000 ¢ 849+ = 6000
) 624+  =6000 419+ = 3000
h) 540 +  =3000  1)392+ = 6000
54+ =80 o7+ =30
5+ =60 Hd4+ =70
8+ =40 8+ =10
b)) 900+  =9000  ¢)200+ = 5000
) 800+  =8000  £)500+ = 5000
B) 400 +  =7000  i)400+ = 8000
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